Assembly Instructions
Table/Leg Assembly

(Adjustable & Non-Adjustable Legs)
For: Models: 4000 & Zuma Series

1. Place the table top on a clean, level surface with its bottom side
up.

2. Align the leg attaching brackets with corner pilot holes as shown,
and attach to the underside of the top with #10 screws, using
a power screwdriver. * Install the remaining screws into each
bracket at this point.

3. Repeat steps 1-2 for the remaining leg assemblies. NOTE: For
tables with adjustable legs, leg height can be adjusted by
loosening the leg's set screw with the Allen wrench provided, as
shown. Once the leg is readjusted to the desired height, make sure
the set screw is fully seated in its adjustment hole, then tighten
firmly. Repeat this process with other leg assemblies so that all
are adjusted to the same height.

* Use caution not to over tighten as this may strip threads.

The following parts are included with each model(s): Required Assembly Tools:
Qty. Description
4 Leg Assembly —=&=  Phillips Head Screwdriver
4 Lower Leg Tube - Allen Wrench 3/16" (Provided)
4 Set Screw 3/8-16 )
Power Screwdriver
36 Screw PPH #10
TITLE FILE NO. REV.
VIRCO MFG. ASSembly Instructions 2006752
rormce.cn | Table/Leg Assembly F
. . DATE
(Adjustable & Non-Adjustable Legs)
02/24/2004

For: Models 4000 & Zuma Series
Form No. 2006752

VIRCO®

ECANO. 2003-157

Set Screw

Allen Wrench

(Provided) v

Screw PPH #10

Pilot Holes

Lower Leg Tube

Leg Assembly

~~__ Table Top

(Bottom Side Up)

© 2004 Virco Mfg. Corporation




